SuMPO EPD SUMPORIESANILTOI T A

SEU""I':’;DD - — R EE A Y AT TR A
.. AAAAA S4FNBIBES (EPD) ST A EX A ET-14-8
VERIFIED KANDA SQUARE GATE
BES ¢ JR-Al-24660E https://ecoleaf-label jp

FUJIFILM

Value from Innovation

BXT71L EVRA A/R-vavERa
FUJIFILM Business Innovation Corp.

A3 ®/ ODOEEHK
A3 Monochrome Multifunction Printer
| : Apeos 4570 (Model-CPS-TTM)
,1 (for US)
) &

Apeos. Apeos O, HBKU ApeosPlus (&, BETAMILAESRRA I NR—2 3 AR OBSREIELZ(TEHIECT .

ETEHENM EHBES JR-AI-24660E
HWFPCREFS PA-590000-Al-08
HWE1EHEY
PCR% ERA S
BEEX REXRE ~FA 2025%4830H
| F533) O fSES WIS HE 2025448218
OEMPAE QEE Q@FE @FER - #HiF RS JATLEREEA T
OREE-UY1I) RIEES 2025-FB-EL-002
HEEEZhEAR 2030548 20R
HROBR, TEMLHK-FET PCRLEI-DENE
Ltk : Apeos 4570 (Model-CPS-TTM) SREHZ 202398 1H
FEMLE  B/I0EEKE EPAR) EZER B B2
ENRIEERE : /70 45ppm (A4 LEF) (FFIB — Mt EE A Y AT F IR e 1)
BAAMETIZX 1 A3, 12 x 18" (305 x 457 mm). BZHRIE BFE &%
SRA3 (320 x 450 mm) NERIREES
POVIVEISIFEZD,
D ED R BE/ ADF (51 B B STiAds) ISO14025 (ST AE & RUT -5 DML LIAREE
OAREs W HLER
*AF LRI A S EENORIDB AR, VAT LRIEITLBEED
2 AERH,

RWEDHEE BTIAMIVLESHRRA I NR—>3 U%REH
EaEmAXAHREHFSV6T BI1E
https://www.fujifilm.com/fb/

Z#xES ¢ JR-AlI-24660E



SUMPORIESANITOIS A

SuMPO

E p D SuMPO EPD —EEEAY AT F IR HEE S

-. .0 S1TNIBRIEEE (EPD) ERBTRARAHE-14-8
YERIFIER KANDA SQUARE GATE

BEHRES JR-AI-24660E https://ecoleaf-label.jp

17917V R E il R

ol = . . fEF - HESF
R RAEERRE B S BB TRBER B e BEEEE B
=]
SEZE-55 kg-COzeq 8.11E+02 2.36E+01 1.89E+02 2.07E+02 1.97E+02
AV EHE kg-CFC-12eq 6.64E-05 3.91E-08 2.79E-08 4.57E-06 2.30E-07
E2XREL kg-PO4132-eq 1.50E-02 4.70E-04 1.88E-04 6.06E-03 5.07E-04
[i7dc(d kg-SOzeq 2.06E+00 1.69E-01 2.30E-01 8.96E-01 2.53E-01
KALFZAFIIVE kg-CzoHseq 1.67E-02 1.97E-05 1.53E-03 1.59E-03 1.24E-03
FEEYME R S-55) kg-Sbeq 7.45E-01 9.36E-05 1.40E-05 5.03E-02 1.07E-04
F1IH1IWAIRY M) SR BEER
—REBOERCETBIRIE
el = . - fEF - HEST
R REERRE BE LB TR ER B e BEEEER P
=X P8
BAETRE—RER M) 1.57E+01 3.53E-03 2.52E+02 6.60E+02 3.05E-02
FHERE—RER M) 1.68E+03 2.71E-01 2.84E+00 2.93E+02 1.56E+00
BERBE—RIRIF- MJ 1.54E+03 2.15E+02 1.05E+01 9.65E+02 1.89E+02
JEFETRE—RIRIF- MJ 1.31E+04 8.53E+02 2.11E+03 4.79E+03 1.29E+03
KIKDEEE m? 4.30E+00 1.62E-02 2.65E+01 6.98E+01 5.49E-02

HEBRCEATZEMER
KEZEEIFEELTEELRLE,
EAHEEPHR)DIZEYFUATEELTVET,
- SO EFERAAMESERTY,
(EF - HESERBICB I BENRIBROE R EEENEEA,
FRBOBAL. IRNF-AF-T0J5LVer3 22 #(A> TR ELETECEETICEELELE,
B EENRIMELE. 297,600 TT,
1/4 x 32 (Y3J/B) x 31 () x5 (A) x4 (B) x 12 (5 B) x 5 () = 297,6001%

Z Db DIRIEEDEEER
IRINF-A5-T0Y5LVer3.2 BE,

EOECHI 5179
mE-mE (ERTHS) Bif =] = CAS No. ERE
EEpaibi 67 kg - -
SuS 0.50 kg - - -
FIVIZUL 0.30 kg
ZoERE 5.2 kg FERALEZRT-YDERS
T5AFYY 41 kg JREAIIE, LCIT-5R-XIDEA Ver3.4, SUMPOBRIEININ IOV I LE KT -Fv1.15%
N 012 kg FEALTVET,
A3 2.0 kg
- AR 9.5 kg &
&[] B EAR 3.8 kg -
ZHER & 3.9 kg
Z0ft 3.0 kg

OT-YEEDHER. PCRELVEE - EEREESRLTIAL,
OLLERIIDOVWTE BEE - EERECAESNLRGERILESBELLAFEHONEEA,
(Z8%URL : https://ecoleaf-label jp/regulation/)



